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READY

Topic: Identifying extraneous solutions

rﬁéf w is the work done to solve a rational e

equation. The problem has been worked correctly.
Explain why the equation has only one solution.

Solve: x:u = ;%2- =1
x(xz_z) - (x)(;:iz) =1 Write using a common denominator.
(x)z(; x 2) =g t— Subtract.
) (x - 2) % )( = = 1(x)(x - 2) — A‘;f:;gﬂ{nic;g;sides by the common
2—-x=x%-2x Cm—  SiMplify.
x2—-x-2=0 weweme  Write a quadratic equation in standard form.
(x-2)x+1)=0 tm— Factor
x=20rx=-1 e Apply the Zero-Product Property and solve for z.
oo Substitute 2 and -1 into the original equation to
| see if the numbers are solutions.

Substitute the given numbers into the

given equatlon Identify which are actual solutions and
which, if any, are extraneous g

POl e \
_}:'\\ ] = N
2 az wland* r " a ,, e Teb: & Oa"dj ﬁd'- '3:'&:\ g ml \NY - )
‘l uﬁ . ‘Tt\ § [ "\5 -g“ a\ m}n\ ".“‘:‘
5\( } \ o - ‘1] = d 1 &= 1
-\ 3 e WD T —8 \ 5 - =
i R P L e e R e
5 =D
Sol¥e 5 and 6.
Watch for extraneous 5. : —— 6. 2+ ——=1
solutions, J e, 2 2
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SET

Topic: Predicting and sketching rational functions

Find the asymptote(s) and intercepts. Then sketch the graph. (Do not use technology to get the

graph. The max and mins do not need to be accurate.)

5.

x+4) A '\_;\:-—
+)

Y=Fax-6) -

Asymptote(s) \kﬁﬁ@l\ = -

lnterceptsy.'i'\ﬁd%‘__\ Q’A\D
B—‘\@\t © 1“@;/"

hoven &:‘XL

Graph:

(=)

)]

&)

L 2T oo

K .(x—4)
T (x-3) (x+1)

y

Intercepts: 3(-\(\}: (DMV\-\:@
ARG

Asymptote (s)?\[Q YLQ)';YE 6 1\); ‘

Graph:

e
- N—

[«]
L

8,
il

[
o

P p—" =
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ﬁf Graph:
_(x2—4x);(x+2) io0
g (4 =8 x+4 EERNENEERES
Al . - i -
\m \e \L = Ez,/ ; HiL
3 ﬁ }\ 3-« l\x\ o g o= :1,,“*(
]ntercepts ( j FRENEL IREN 10
N\ 4 " - ] - L9 N . " .
J X“%‘ L'v;&\_‘-u_. J?’:’ :
-t b,f; ) | T
’X 8H. Graph:
_(x=6) +3) o
T (x—-3) x*—-6x+9 "__7
I LT NUEERENE
Asymptote(s): JJ : ‘4 ‘-"= 5
i_}y gn Tk A \’2‘% | § 4 W
T T} T 7 IR NENERY
X \ G : 1 o G s ':'?-"::-‘;
5 P . ‘
Intercepts: }L"(‘“; s \“;’Q’:‘Q‘ ) = 0 I3 10
W Y
S, [
: 5
T ]

3
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GO
Topic: Exploring linear equations
9. What value of k in the equation kx + 10 = 6y would give a line with slope -3?
BXHD -y Aepy EXI
= PRl t VRN R PR VIR 2
10. What value of k in the equation kx — 12 = —15y would give a line with slope 27
O G VI A e v
WD o < onin TN = - AR
11. The standard form of a linear equation is Ax + By = C. Rewrite this equation in J\J = s
slope - intercept form.  What is the slope? What is the y - intercept? o 'fi.x:\r
_.—.{E&'_X B == D= é. ©
3\"’ @) X l{l) M"" ‘";; s
12. If bis the y - intercept of a linear funcﬁ%ﬁ whose graph has slope m, then y = mx + b describes
the line. Below is an incomplete justification of this statement. Fill in the missing information.
Statements Reasons
1. m=%221 1. slope formula
X2—X3
2. By definition, if b is the y - intercept, then
5y oo M0 (', b)is apoint on the line. (x,y) is any
x-0
other point on the line.
_y-b B2 Yo § '~ vf \
3'm__x_ ?\'L' L& =) 4 j
4 m. ,( =B 4. Multiplication Property of Equality
(Multiply both sides of the equation by x.)
S.mx+b=y,ory=mx+b 5.7 L= A i 1 %
=4 (!e}‘\i { -
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